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Third Semester B.E. Degree Examiri-%6ffih, Jan./Feb.202l

Additional Matngnl$tics - I
il '::=:: W+.,==a W

Time: 3 hrs' ;+j -=Max' Marks: 1oogs*'* _@,
Note: Answer any FIVE full questions, ffi%sTffig ONE full questionffi each module.'%,F - -"'l

,*.@eaure-r d* @

Findthemodurus*ou-r*uffi ffi (06Marks)
!, n$l

r-1
If x+ !:2 coso,thenprovethatxn+ {:2cosno. (07Marks)

x T; x' -,.W. 
.

Find the fourth roots ffiY\6 and represent thenfuffi in argand plane. (07 Marks)
i+",*'"\d

!.&i.*e.rffi oRfu
Sa "13' ^If the vectors ffiej + k and 4i - 2 j- Zffipq..S,perpendicular to each other than find the value**o: 

(06 Marks)of )u' r&b=l' "$ ^ .
Find tffiipe bf the angle betweeg,th,,B;Ttor: d = i + j**$ffU^ b =^2i-3j+2k. (07 Marks)

Find'fus.bch that the vectors 2i tt*r]t , i +2j- 31 afi;3j# Ij + 5k are coplanar. (07 Marks)
::: a!n::+;:r tr

t*uF% " (06 Marks)

2a.

b.

c.

3a.
b.

c. Prove that

a. Evaluate

b. Evaluate

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)
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&-
!

=ry'e%'FoR =8:#6 L. Evaluate Jsinux dx. ft= 
(06M'*i)

b. Evatuate il ,,.' + y'; dx dy, where R is the ,ffi.O"unded by the lines y: 0 
' Y: x and

Rrut
x= 1. %** '@ 

(oTMarks)

1 1 I _{%, r W, (07 Marks)
c. evaluate J J J e**v*'dx dv dz' - %:ffi 

,{Fbb6 fu- * *JJ.'6bo *% &'*
r'o%, - tr ,W#"

-* w wlVlgdule-4 
'B-lm:Ta.Aparticlemovesalong.';1-1F*no'.po.f't}onvectorisgivenby( 

" lt* ,',. [:#} $'"o the verocitv ,mil't',:"'.':: = ' ::::'i:r =l t-- I

\ 3)( 3 ) \-**J#
b. Findtheunitnormalffib;tothe surfacexy+xiwflff :3 at(l, 1, 1)' (07Marks)

;. ei"i ai, F*d#ryf where F = v(x3 . 
*,M*- 

3xw)' (07 Marks)

$1"1' *r & W&Jq *,\ \;te&d G*fti.fl
vedor is given by i= cos wt i + sin wt i, where w is a

that the vetocityGd&erpendicular to i.,6, ' (06 Marks)

^ 1 *..m*t'', ^.,,i----r*"; /o7Mnrks)

' *eqh- 
,

8 a. A Partiq

b. rf FTY& + y+ 1) i + i - t* * Yfk, show that F 0. (07 Marks)
D. It r -\,A ' J ! r,, r J \" J,'q='---- . 

&."% d-

c. Showthat i=(siny*r) i#@.ot v-z) i +g;ffis irrotational$- find0 sucltnal
Showthat f =(smy+z) |J ltxcosy-:z) J -[ -UWBrurvlelrv"H*ff"' \ ffih v o 6*nS&*" (O7Marks)i = Vo. n ffi'' - ;ruY _*Tj"r : vq' il%. 

-*,W 
*' d* d

"e fvfoautet * ryl......-..ff *\-

s a. Sorve .fl=,*ffi*)" N*' 
ffi$' (o6Marks)

b. Solve$+flcot*=sinx. & @ .**h' (O7Marks)v' "-@*u 
^ 1".*w {;.""*-&- -;\r-. L r.3 t _r $.lu{+ri (07 Marks)c. Solvff{2 + y)dx + (y' + $qYf 0 r'**r **%'s \ -

&. ,s 6"$s$ qRy\ * #w &#'lt'
to r.,ffifftu.9*I=y'#8fl ''%' (o6Marks)

*11 dx x k*a* * d

t.*Sot.gto"-6*ffi+y)dx+(**fof xcosy+x)dy=0' (07Marks)

' *?kBW_ _., cY (07 Marks)c. Solve ), t##= *Y+. & % 
-

*w*sdx "dx * "''

.4"

l":.W+

hs# ' SS
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